MSA—R15—B—AB—

PULLEY PITCH DIAMETER

33.42mm (1.316”)

PULLEY WIDTH

16.3mm (.642")

L

PULLEY MATERIAL

STEEL

BELT WEIGHT (kq)

((TRAVEL IN METERS x 2)+.50) x .04

TRAVEL PER REV. 105mm
TRAVEL MIN. 150mm
TRAVEL MAX. 3850mm

CART WEIGHT (kq) 0.36kg

SYSTEM WEIGHT (kg)

(TRAVEL IN METERS x 3.1) + 1.7

SEE PAGE 2 FOR
MOUNTING FACE

14— 76.2
Dz* / —35.0 D4*
r r
| \ e 9 L |
®
—~ (‘) (‘ () () —~
‘ ~~ L © y —~— T 1
22 LJ @ffff? ;ffﬁﬁi——Q %\ Ffff?ff n
L
b g953 48,
L= ol 24 |- 13

OVERALL LENGTH (TRAVEL + 258)

4x M6x1.0—6H
v11.9

28.0

**RAIL LOCATION
DOES NOT MOVE**

ENTER
TRAVEL IN INCREMENTS OF 25mm

SELECT
DRIVE SHAFT LOCATION *
SHAFTING TYPE

AQ=SINGLE SHAFTED
BO=DOUBLE SHAFTED

" IS USED THE NUMBER WILL

NOTE: QF "B
DESIGNATE POSITION OF THE BOSS ON THE PULLEY)

AM=SINGLE SHAFTED W/ MOTOR MOUNT

2x ¢ 50T 7.9

M=DOUBLE SHAFTED W/ MOTOR MOUNT

\‘

MBx1.0 — 6H ¥ 6.4/
@67 30 4x M5x0.8—6H 35.0
BOLT CIRCLE / v 9
—A I
\ . e o ﬂi & - y :|_J
\ ©0e 50.8 °
o
L (¢ ) S Jr G’@Q_ 700 749 | O] o 70.0
\ \ ® 0 0 \ \ 65.6 . 5
\ | = \ \\ \\ 42.0 =} — - :1 42.0 50.5
r’@ ° ) R A 3 ) |@@ °®I'—i184' | p st
L — [\ P | | : L @ l l
\ \ \ \
\\¢38.1 PILOT — 24 = 44ef o 5.5-o] I} b -«
0.80mm TALL 2x M6x1.0—6H —={ 28.0 14.0
(SHAFT LOCATION ONLY) 28.0 v 9 5
22.5
—={ 28.0 f=—
T 1/26/201 7 | MATERIAL TITLE
o DD/MM/YYYY X'CATCURAOT%RR“S RAIL
8/6/2020
APPROVED: V]
Xt 008
DATE SURFACE FINISH N _ SCALE 11 [ SHEET SZE_©
[ DIMENSIORAL LIS ADBLY. AETCE. FINISHING S—{:: OF 2 e MSA—R15 "
35 AR VB Notiee ! THIRD_ANGLE_PROJECTION




CART MOUNTING

*CART TOP

FEATURES
241 28.0 /
16.5
2
15.3

\__4 x M6x1.0—6H

v10

CUSTOMER ACCESSIBLE
MOUNTING FEATURES,

T—NUT SLOTS

4

[=8.5=

SPECIFICATIONS ARE SUBJECT
TO CHANGE WITHOUT NOTICE

DOUBLE SHAFTED
PULLEY

5x M6x1.0—6H

V6.4 7
i

/

A
21.6 I MOTOR
TYP MOUNT
7 [ SIbE
©9.525
TYP
} G} 70.0
POWER
TAKE—-OFF F |
SIDE \” 50.5
42.0
33.5
D 1
T
5.5
e 14.0—
22.5
28.0
== et B "MACRON R15 RAIL
o DD /MM /YYYY
E== po ——2/5/2020 ACTUATOR
m X+ .03 FINISH

SOEED. XX £ 010
MACRON DYNAMICS INC S o 008

SURFACE FINISH {/

THI

SCALE 11 [ SHEET SIZE_C
REV

BREAK ALL SHARP EDGES SHEET
DIMENSIONAL_ LIMITS APPLY AFTER FINISHING| o ()F 2

THIRD_ANGLE PROJECTION

PART NUMBER

MSA-R15




	Untitled



